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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. Suitable 

diagrams must be given, wherever necessary. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA vko’;drk vuqlkj] mi;qDr js[kkfp= js[kkafdr fd;k 

tkuk pkfg,A 
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1. Explain elasticity of demand. What are the various 

methods of measuring elasticity of demand ? 

ek¡x dh yksp dh O;k[;k dhft,A ek¡x dh yksp dks ekius 

dh fofHkUu fof/k;k¡ dkSu&lh gSa \ 

2. What do you understand by Net National Product ? 

What are the various problems in measuring national 

income ? 

‘kq) jk”Vªh; mRikn ls vki D;k le>rs gSa \ jk”Vªh; vk; dh 

x.kuk esa vkus okyh fofHkUu dfBukb;k¡ dkSu&dkSu lh gSa \ 

3. Define indifference curve. Explain how to determine 

consumer‟s equilibrium through indifference curve 

analysis. 

mnklhurk rVLFkrk oØ dks ifjHkkf”kr dhft,A O;k[;k 

dhft, fd mnklhurk rVLFkrk oØ fo’ys”k.k }kjk miHkksDrk 

lkE; dk fu/kkZj.k fdl izdkj ls fd;k tkrk gSA 

4. Discuss the following : 

(a) Increasing Returns to Scale  

(b) Constant Returns to Scale 

(c) Decreasing Returns to Scale  

fuEufyf[kr ij ppkZ dhft, % 

¼v½ iSekus dk o`)eku izfrQy 

¼c½ iSekus dk lerk izfrQy 

¼l½ iSekus dk ?kVrk gqvk izfrQy 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  Answer 

of these questions must be restricted to two hundred 

fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj vf/kdre nks lkS ipkl ¼250½ 

‘kCnksa esa nhft,A 

Briefly discuss the following : 

fuEufyf[kr ij la{ksi esa ppkZ dhft, % 

1. In a perfect competitive market short-term period 

equilibrium of the firm. 

iw.kZ izfr;ksfxrk cktkj esa vYidky esa QeZ dk lkE;A 

2. In a monopoly market long-run price and output 

determination. 

,dkf/kdkj cktkj esa nh?kZdkyhu ewY; ,oa mRiknu dk 

fu/kkZj.kA 

3. Classical theory of interest. 

C;kt dk izfrf”Br fl)kUrA 

4. Characteristics of Oligopoly market. 

vYikf/kdkj cktkj dh fo’ks”krk,¡A 

5. Short-run cost curves of the Firm. 

QeZ ds vYidkyhu ykxr oØA 
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6. Properties of Iso-quants. 

leksRifŸk oØ dh fo’ks”krk,¡A 

7. Law of demand. 

ek¡x dk fu;eA 

8. Consumer‟s surplus. 

miHkksDrk dh cprA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Oligopoly is type of perfect market. (True/False) 

vYikf/kdkj lEiw.kZ cktkj dk gh ,d izdkj gSA  

    ¼lR;@vlR;½ 

2. Supply curve of a perfectly competitive firm is upward 

sloping.   (True/False) 

,d iw.kZ izfrLi/khZ QeZ dk iwfrZ oØ Åij dh vksj c<+rk gqvk 

gksrk gSA   ¼lR;@vlR;½ 

3. Demand curve for necessity goods is a horizontal line.  

     (True/False)  

vko’;d oLrqvksa ds fy, ek¡x oØ dk :i ,d {kSfrt js[kk 

dk gksrk gSA   ¼lR;@vlR;½ 
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4. Two indifference curve intersects to derive same 

satisfaction level. (True/False) 

nks rVLFkrk oØ lkekU; lUrqf”V ds Lrj dks izkIr djus ds 

fy, ,d&nwljs dks izfrPNsfnr djrs dkVrs gSa ¼lR;@vlR;½ 

5. Deflation is the primary stage of disinflation.  

     (True/False)  

viLQhfr voLQhfr ds izkFkfed pj.k dk :i gSA  

    ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. The demand curve has a .................. slope. 

ek¡x oØ dh <yku 
--------------------------------

 gksrh gSA 

7. When price rise, quantity supplied .................. 

tc ewY; c<+ tkrk gS] rc ek=k dh vkiwfrZ 
--------------------------------

 gSA 

8. A movement along the demand curve is caused by 

................... of the goods only. 

fdlh ek¡x oØ dh pky xfr ds lkFk gq, ifjorZu dk dkj.k 

oLrqvksa dh 
--------------------------------

 gksrk gSA 

9. In the case of inferior goods, the income elasticity of 

demand is .................. 

voj fuEu dksfV dh oLrqvksa ds lUnHkZ esa] ek¡x dh vk; yksp 
--------------------------------

 gksrh gSA 

10. Market equilibrium occurs where demand and supply 

are .................. 

cktkj lUrqyu rc gksrk gS tc ek¡x vkSj iwfrZ 
--------------------------------

 

gksrs gSaA 
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